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1*1 aganpu2 =[IN[A 1n+A2nY)I(A 20A0n)] (Yn/100<Y<=Y,c)
I \(3,6)=146/* ,(18)=332,*  (90)=517
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tristimulus value difference

Yoc=Yw - nc=100,
I* L ABINDU2=[INI(A 10+ A2nY)V(A 2nA0n)] (Yn/100<Y<=Y,c)
dY=Agn(A1+AzY)  Aq=0,017, A,=0,0058
Aonpss=1,5, Aon a=1,0, see CIE 230:2019
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"1 AganDu2 =[IN[A 10+ A2 YVI(A 20A )] (Yn/100<Y<=Y,c)
AYIY=Ag A1 +AZYVY
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log (Y/AY)
C,=(Y/AY)

LABJINDu2
tristimulus value contrast

Yoc=Yw - nc=100,
I* L ABaNDU2 =[IN[(A 10+ A2nY)V(A 2nA0n)] (Yn/100<Y<=Y,c)
YIAY=Y/[Agn(A1ntA2RY)]

47382 dY,=0,17, Y,/dY,=101
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i/l LABJINDu? relative standard lightnessI*/I* ,
[/ Yoc=Yw nc=100,

%L aganbuz =[IN[A 17+A2nV)V(A 20A0n)] (Yd/100<Y<=Y,0)
1 \(3,6)=146* ,(18)=332.* y(90)=517
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Yne=Yw nc=100,
%L aganbuz =[IN[A 17+A2nV)V(A 20A0n)] (Ynd/100<Y<=Y,0)
AYIY,=AgfA 1 +AgYIdY,
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Iog[(Y/de(YldYL] =0, m=0.11 _
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